


. A sum of money becomes two
times of itself in 8 years at simple
interest, and it becomes four times
of itself in 2 years at compound
interest, when interest in

/ compounded annually. Find the
ratio of the ratg of simple interest

to the rate of compound interest
HI
offered per year.
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A smaller circle touches a bigger
circle internally and also passed
through the center ‘O’ of the bigger
ircle__]f the area of the smaller
92 cm?2, The area of the

e ey

bigger circle !in cm?) is:

U BICl 9d ds 93 Bl ATdRS wyU
Q@ wel avar @ AR 42 99 @ B
‘0 ¥ Al Torar 21 afe wic g7 &1
ga%a 192 4H 2| ¥ qA Bl
ga%hd (94 ) =

#0768 (b) 384

(c) 1024 (d) 720
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(a) 335 km

(_ter 325 km

(b) 310 km

A thief escapes from a police
station at 8:0Q a.m. on a cycle at a
speed of S0 /h. A policeman
starts chasing | the thief on a
motorbike at 9:30 a.m. at the speed
of 65 km/h. At what distance from
the police station will the policeman
catch up with the thief?

Ud diIk gdg 8:00 I 50 fHl/ger
&1 Tfa | 9igfdd R GaR gdR (d
gfed €9 ¥ AT W@l Bl U
yferaadl Yag 9:30 99 65 fHHl /=er
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If K2: M:: M: 16, then what is the
—

value of (K2 + 2M?) : (K2 + M?)?

UG K2 : M 2 M : 16, d1 (K2 + 2M?) :
(K2 + M2) $T q19 & 87

(@)1:1  A133:17

(c)17:16  (d)32:17




TN & waadad by 2 13
Q,.(W‘(M 234 56 234 5"
.M then what is the value of A-B?

%Og _— QB H&A=1+1x1+1_13ﬁ_\f B=;+;xi+;

————

(Tt{z 10 dl A-B T | FIT 27
'_11_’ (a) 17/20 (b) 9/20
Yo \‘_/147/40 (d) 1/5



(a) Rs. 52

_Io¥Rs. 68

(b) Rs. 88
(d) Rs. 74

A person has some coins of Rs. 10,
Rs. 5 and Rs. 2 denominations. The
ratio of the products of the number
of Rs. 10 and Rs. 5 coins, the
numbers of Rs. 5 and Rs. 2 coins
of Rs. 2 and Rs. 10
dspectively. What
could be t T m amount of
money this person has?
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Find the value of ‘b’ in the given
mathematical statement:

30% of b% 0f 296 = 40% of 50% of
5% of 1480 ¢

fey v TR ®om § b’ &1 A4M
d1d DI

296 HT b% &1 30% = 50% BT 40%
BT 1480 BT 5%

(a) 80/3 (b) 40/3

(c) 125/3 \})5013



If the difference, sum and product
of two numbers are in the ratio 1 : 7

: 24, then the sum of the two
numbers is:

gfe T gweel &1 faR, AT 3R
TGS 1:7:24 $ 3Ud d g, @l
<9 s &1 I fhaqr 27

@28 __jf1a @

(c) 48 (d) 21



A wall clock loses 7 seconds in one
hour and was set right at 8 a.m.

What time will it show at 3 p.m. on
the same day?

Uh 9N U<l Uh Hc H 7 Uds
T XF=HA3S ke @) o 2 ok qaE A a9 @@
% ﬁaaﬁﬂ‘s‘ﬁ.aﬁﬁqﬁ%ﬁaﬁ

T 999 feErfi?

Q . 8‘1 ' o (a) 2:59:23 p.m
\ﬁiﬂﬁ:SQ:ll p.m. ®
(c) 2:59:15 p.m.

(d) 2:59:19 p.m.




An inlet pipe fills up a cistern in 2
hours, while an outlet pipe empties

> it in 4 hours. The empty cistern was
Q_ being filled up with both the pipes
‘1 \ open for 1 hours, after which

someone closed the outlet. How
long will it take in total to fill up

3 the cistern?

- Ud 3-icic U39 U cdl &l 2 9¢ H
= (B

AT &, Wdfd TP JI9celc Uiy gd

(a) 2 hours 15 minutes 2 Efje ! E"T'ﬁ W_%I Tl SHI B
L/ﬂ!ﬁhoursSO minutes QHT uigdl | 1 HC W W SR
o1, foue a1 fedl 4 anScde 97

B S B} foar| <@ & A A @ fbadn
(d) 1 hours 30 minutes AT ANT?
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s. 80,000
(b) Rs. 1,00,000
(c) Rs. 70,000
(d) Rs. 75,000

A, B, C started a business with
their investments in the ratio 1 : 4 :
6. After 4 months, A invested double
the amount as before whereas B and
C withdrew half of their
investments. At the end of the year,
if the profit was Rs. 2,50,000, then
B gets:
A,B,C<1:4:6 $ 3-Urd H 3
fder @ WY (e wgau e (b,
4 981 @ 919 A 7 Ugd @ QA
g-RIRT &1 fder fear sefe B 3R €

9 39 fAder &1 3mer 9y o ferar |
® 3d A, Ife o 2,50,000 TII
ofT. dl B &l foha-l a=RIf3r ura sih

87



A started a business by investing
Rs. 7,26;600~ After 4 months B joins
him with an investment of Rs.
5,46;600. At the end of the year,
both of them earn a profit of Rs.
96.000,\ the amount A gets for his
share of profit is:

A 3 7,20,000 398 &1 fF1AI HXD Td
Fqad Yo [HA1| 4 A8 & 91 B
SH® ATl 540,000 $94 & Q9 @
g1 G WGl 8| 94 @ 3d #, d
G4l 96,000 ¥UA &1 ATH HHI =, A
B Jud o @ e @ fau feal
= RTRT et 27

\UaT' Rs. 64,000 (b) Rs. 52,000
(c) Rs. 56,000 (d) Rs. 72,000




The goals scored by a team in a
series of 12 matches are given as 4,

5,3,2,0,3,4,3,1, 2, 4, 5. Find the
arithmetic mean.
Uh 4 gRT 12 #4491 & g@dr o
fod T M 4, 5 3,2, 0, 3, 4,3, 1,
2, 4,5 d ®©U ¥ fau g ¥ | AR
qTE 1A DI |

(a) 7 (b) 9

(c) 4 L/u;ua



Zq{/‘ One-fifth of a cylindrical drinking

water tank is filled with water. If a

watez-puqp is on for 50 seconds, it
fil of water i ):‘he tank,
and STiIl, the tank is half empty. The
total capacity of the tank is:

Ud dadrdR N7 & gl &1 <Dl B
1/5 |1 Ul 9 9R7 83T 2 | Afe U
Ul &1 94U 50 dbs @ faU Ao
foar Srar @, df 98 <&l ¥ 5 oflex
Ul WRaT =, 3R R Hl, <o sl
Glell I8 Wl 2| TP DI HA &HAT
T 27

(a) 16 litres (b) 15 litres

-~ & o
(c) 166 litres WIGE litres



An employee may claim Rs 11.00
for each km when he travels by cab

and Rs 7.00 for each kmp_jf he drives
his car. Ihravds@m and
submits a bill for Rs. 1,335. For how
many km did he drive his car?

Uh HHAN o4 D9 d I HAl &
d e fed & fau 11 sud @
STdT YAl & 3R 94 98 AU BRI
ATAT Bl & dl ydd feifl & forw 7
YA BT <rdl Hdl = | Ife 98 145
foft f& ar=m wxar 8 X 1335 9
&1 faa <ar 2| 98 fead fe&h a1
ATAT Y BR G HICAT B °

(a) 80 (b) 55 ®

(c) 90 4465




When an integer M is divided by 4,
the remainder is 2, and when M + 2
is divided by 6, the remainder is 4.
Out of the following, a possible
value of M is:

o4 Uh Yuiie M $l 4 | fauifea
foar wirar 2, @ AYGA 2 BT ®,
IR Gd M + 2 &I 6 9 fawurfora fean
STl g, d 9Yhd 4 BT B
¥ M &1 garfad 919 2




marked price of a TV is Rs.
he shopkeeper allows a

discount of 15% and gains 2%. If no
discount is allowed,__his gain

percentage would be:
P

s <Idl &1 3ifdd Jeu 12,000 U
2| GPMAR 15% ®I BT qdl & 3

2% dTH U &xdl = | Ife »Ig 8
T8l & il 8, a9 S9dl ard gfaerd
a7 BIT?

20% (b) 15%
(c) 30% (d) 25%



If working for 10 urs a day, 2
pumps can empty a tank is 4 days.
If the number of pumps arg tripled
and must empty the tank in a day,

how _lon it take (time rounded
td next hour possible)?

gfe vd fea d 10 g2 o oA
Odr 8, d 2 99 U ¢ &l 4 fe=l
¥ Wrefl ) gbd o | afe gai &)
g&T 49 A1 8l Wl @ 3R S Bl
U foq1 A @refl @& slar 2,
sad fear 9wg ai? (99 @l
frecan Uh Hc dob forar o

14 (b) 12
(c) 15 (d) 13



A glass of cylindrical shape has
radius of 4 cm and height equal to 7
cm. A water jug has a volume equal
to 6336 cm?3. How many times has

the water to be poured from the
glass to fill the jug completely
[ =E]v

7

ddTPR PR & UTh g &)
Broar 4 9t sy a9 7 9 @

EY 2| U U b ST BT ATIdH
6336 99 AHY ® SO 2| ST Bl

& g 9 W @ fag fraw 4@
ﬁﬁlﬁaﬁtrﬁﬁwqa}m?[=¥

(a) 7 times (b) 13 times
\_c)18 times (d) 4 times



A provision store is going out of
business. It announced a scheme of

= G°7.-—'—“'Bu 1, Get 1.5 Free” _A woman

buys a packet of spgar

y £
whose marked price ds Rs. 840.

the store has marked up 200%
above the cost price of each item,

what is the store’s profit percentage
in this transaction,—if it further
gives a discount @n the net
payment?

Udh UI9ei &1 S &I AdHd ©le
d WO @ 2] 98 T@MGR 1 @]g,
1.5 qUd UY @I IS B YoM
Yl 2 | U Afgar 10 feat - &1



& dc @lcdl 2 foraar aifed
I 840 ¥YA B | FHMGR A UAD
a B ANTd I ¥ 200% HUX
dfbd fear 21 39 o939 4 ®R
&1 oW yfawd @ 2, I 98 g«
I W) 5% B BT Qdl 27

(a) 12% (b) 10%

() 20% \_Ad) 14%

O



The average of eleven values is»69.
If the average of first ﬁ)e)a)(mi]ast
five wvalues ae _68 and °61,
espectively. Find the middle value.

AT BT 3AEd 69 & | afe uga
Urg 3 3ifaw uig 9= &1 3idd
HHY: 68 X 61 =, dl #G HIF FTd
67( PITSIY |

(a) 215 (b) 305

(c) 340 LJJﬂfT14
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Vandana made an item for Rs. 120
and sold it to Shama at a 25%
profit. Shama sold it to Mangesh,

who sold it for Rs. 198, thereby
making 10% profit. What was the

profit percentage that Shama made?

4cHl Uh 9% Bl 120 94 § Sl
3N M Bl 25% D oA UX 99
Y 21 79T 3O toswmme. T

mﬁﬂ adl %’ 10“/;1“ mﬁa

et 27 ®
(a) 21.0% (b) 19.0%

(c) 18.0%  _4df 20.0%



A fruit-seller buys some bananas at

the rate of 4 for Rs. 1 and the same
——

number of bananas at the rate of 5
for Rs. 1. He mixes the two lots and
sells at ’2 for Rs. 2. Find the

percentage of his gain or loss.

Ud Bo—fdddl & dd 1 S0 H 4
@ ) 9 Edcdr § 3R Sad & dd
1 998 ¥ 5 @] ¥ 9§ @dicar 21 98
&l @Y &l fiemar 2 3R 2 $9d 7 9
@ X 9§ d49dl g | S o Il

&1 gfaerd S1d By |

1.2% gain (b) 2.1% loss
) 2.1% gain \(df 1.2% loss



When the price of oil is increased
by 30%, how much per cent must a
house holder reduce its
consumption so as to increase the
expenditure on this item by 10%?

o4 dd @1 BINd H 30% B dfg B
Wil 2, d US Tewrfl &l Ul
9gud H fead gfaera & $H sl
qrfev drfé 39 A W &9 ded @d
¥ 10% @1 Bl B ?

(a) 16.5% (b) 16%

\_I9r15.4% (d) 15%



A solid sphere of radius 3 cm and a
cylinder of radius 4 cm and height 3
cm are melted and cast into a cone
of slap 10 cm, such that
sum of the surface area of the
sphere and the lateral surface area
of the cylinder equals the laters

2 area of the conef The height

of the cone formed is:

3 9 5our @ e oig M 3 4
a9t e ik 3 9 S9E @ @
da< &1 fQgaaxy 10 99 fads
$dlg & e H TH YBR STl Srdl
g, & Md @& g gawa R 4+
& Urd Y d3%el &I G, UH b
usd g S A%el & a}IE] gidl o |
~iffa oig @1 93 fead 82




A park has an average of 630
visitors on Sundays and 360 on
other days. The average number of
visitors per day in a month of 30
days beginning with a Sunday is:

Uh S H MqaR &1 3i¥dT 630
3R =1 faat ¥ 360 ATTD AT 2 |
faar 4 go &i4 ard 30 e &
R A wfafes mrgel @ sitwa
& 2

(a) 425 karias

(c) 415 (d) 395



(a) 6 hours (b) 1
(c) 30 hours ug} 15 hours

ours

A tank is filled by three pipes with
uniform flow. The first two pipes
operating simultaneously, fill the
tank in the same time during which
the tank is filled by the third pipe
alone. The second pipe fills the tank
S hours faster than the first pipe
and 4 hours slower than the third
pipe. The time required by the first

ipe is:

__!1__________.—-

A Y48 @ o9 9ISy U C @ Bl
XA ® | U8 &I UTSU UH w1 Ao+
R ¢k Bl Idd B AT H WA B
15 5 A 2 R S 1 3 R Y L 4 S s
¢% Bl WAl ©| U URY Usd
gsY 9 5 Hc Gledl ¢® bl WAl ©
3R R sy ¥ 4 8¢ R "xar 2
Uygd UIsY gRT foran i uuy 2:






